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Chapter No 10 (hssc – I) 
 

1) 𝐷𝑖𝑠𝑡𝑎𝑛𝑐𝑒 𝑏𝑒𝑡𝑤𝑒𝑒𝑛 𝑡𝑕𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 𝑃1 (𝑥1,, 𝑦1)&𝑃2(𝑥2,, 𝑦2)𝑖𝑠: 

A. 𝑑 =    (𝑥1 − 𝑥2)2 + (𝑦1 − 𝑦2)2 B. 𝑑 =  (𝑥1 − 𝑦1)2 + (𝑥2 − 𝑦2)2 

C. 𝑑 =  (𝑥1 − 𝑥2)2 + (𝑦2 − 𝑦1)2  D.  𝐴𝑙𝑙 𝑜𝑓 𝑡𝑕𝑒𝑠𝑒 

 
2) The distance ̒r̓ of  the point x1 , y1  from the origin is given by:  

A.  𝑥1
2 + 𝑦1

2 B.   𝑥1 + 𝑦1 
2 C.  𝑥1

2 − 𝑦1
2 D. 𝑥1

2 − 𝑦1
2 

 
3) Distance between the points A(3,8) & B(5,6) is ∶ 

A. 2 2  B.  3  C.  4      D.  2 
 
4) sin −β = __________ 
 A. 𝑠𝑖𝑛𝛽  B. −𝑠𝑖𝑛𝛽  C. 𝑐𝑜𝑠𝛽  D. 𝑐𝑜𝑠 −𝛽  
 
5) cos −α  
 A. 𝑠𝑖𝑛𝛼  B. −𝑠𝑖𝑛𝛼  C. −𝑐𝑜𝑠𝛼  D. 𝑐𝑜𝑠𝛼 
 
6) tan −α = 
 A. −𝑡𝑎𝑛𝛼  B. 𝑡𝑎𝑛𝛼  C. 𝑐𝑜𝑡𝛼  D. −𝑐𝑜𝑡𝛼 
 

7) tan  
θ−∅

2
 =? 

A. 𝑠𝑖𝑛  
𝜃−∅

2
  B. 𝑐𝑜𝑠  

𝜃−∅

2
  C. −𝑡𝑎𝑛  

∅−𝜃

2
  D.   2 sin 𝜃 − ∅ cos(𝜃 − ∅) 

 
8) 𝑇𝑕𝑒 𝑎𝑛𝑔𝑙𝑒 𝑎𝑠𝑠𝑜𝑐𝑖𝑎𝑡𝑒𝑑 𝑤𝑖𝑡𝑕 𝑎𝑛𝑔𝑙𝑒𝑠 𝑜𝑓 𝑚𝑒𝑎𝑠𝑢𝑟𝑒 𝜃 𝑡𝑜 𝑎 𝑟𝑖𝑔𝑕𝑡 𝑎𝑛𝑔𝑙𝑒 𝑜𝑟 𝑖𝑡𝑠 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑒 𝑖𝑠 𝑐𝑎𝑙𝑙𝑒𝑑________ 

 
 A. 𝐴𝑐𝑢𝑡𝑒 𝑎𝑛𝑔𝑙𝑒     B. 𝑄𝑢𝑎𝑑𝑟𝑎𝑛𝑡𝑎𝑙 𝑎𝑛𝑔𝑙𝑒 
 C. 𝐴𝑙𝑙𝑖𝑒𝑑 𝐴𝑛𝑔𝑙𝑒    D. 𝑁𝑜𝑛𝑒 𝑜𝑓 𝑡𝑕𝑒𝑠𝑒 
 
9) 900 ±  𝜃, 1800 ±  𝜃, 2700 ± 𝜃, 3600 ± 𝜃 𝑎𝑟𝑒 𝑐𝑎𝑙𝑙𝑒𝑑: 
 A. Obtuse angles    B. Supplementary angles 
 C. Allied angles    D. Acute angles 
 
10) The angles 90o ± θ, 180o ± θ, 270o ± θ, 360o ± θ  𝑎𝑟𝑒 𝑡𝑕𝑒 ______𝑎𝑛𝑔𝑙𝑒.  
 A. Composite B. Half  C. Quadrantal D. Allied 
 
11) 𝑊𝑕𝑖𝑐𝑕 𝑖𝑠 𝑡𝑕𝑒 𝑎𝑙𝑙𝑖𝑒𝑑 𝑎𝑛𝑔𝑙𝑒: 

A. 90° +  𝜃 B. 60° +  𝜃    C.  45° +  𝜃 D. 30° +  𝜃 
 

12) 𝑇𝑕𝑒 𝑚𝑒𝑎𝑠𝑢𝑟𝑒 𝑜𝑓 𝜋 + 𝜃 𝑜𝑟 
3𝜋

2
− 𝜃 𝑙𝑖𝑒𝑠 𝑖𝑛 𝑡𝑕𝑒 ______𝑞𝑢𝑎𝑑𝑟𝑎𝑛𝑡.  

 A. 𝐼  B. 𝐼𝐼  C. 𝐼𝐼𝐼  D. 𝐼𝑉 
 
13) Co − ratio of cosine is 

A. 𝑠𝑒𝑐  B. 𝑠𝑖𝑛𝑒  C. 𝑐𝑜𝑠𝑒𝑐  D. 𝑐𝑜𝑠 
 
14) 𝑇𝑕𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑠𝑖𝑛 7𝜋 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜: 

 A. 0  B. 1  C.  −1                     D. 
1 

2
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15) 𝑠𝑖𝑛 540° 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 1  B. 0    C. 
1

 2
  D. 

 3

2
 

 
16) 𝑐𝑜𝑠 315° 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜    

 A. 1   B.  0      C. 
1

 2
  D. 

 3

2
 

 
17) The value of tan225° =? 

A. 0  B. 
1

 3
  C. 1  D. ∞ 

  
18) 𝑇𝑕𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑠𝑖𝑛 420° 𝑖𝑠: 

 A. 
1

2
  B. 

 3

2
  C. −

1

 2
  D. −

 3

2
 

 
19) sin −300𝑜  = 

 A. −
 3

2
  B. 

 3

2
  C. 

2

 3
  D. 0 

 
20) 𝑡𝑎𝑛 (−135) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

 A. 1  B. 0   C. 
1

 3
  D. −1 

 
21) 𝑠𝑒𝑐(−300°) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 1    B. 2  C.  0                D.          -1 
 
22) tan 135°45′ =? 
 A. tan 44° 25′    B. − tan 44° 15′   

C. cot 44° 25′    D. −cot 44° 25′  
 
23) 𝑖𝑓 𝛼, 𝛽, 𝛾 𝑎𝑟𝑒 𝑡𝑕𝑒 𝑎𝑛𝑔𝑙𝑒𝑠 𝑜𝑓 ∆𝐴𝐵𝐶, 𝑡𝑕𝑒𝑛 𝑆𝑖𝑛(𝛼 +  𝛽) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 𝑠𝑖𝑛 𝛾  B.  −𝑠𝑖𝑛 𝛾   C. 𝑐𝑜𝑠 𝛾  D.  −cos𝛾 
 
24) 𝑖𝑓 𝛼, 𝛽, 𝛾 𝑎𝑟𝑒 𝑡𝑕𝑒 𝑎𝑛𝑔𝑙𝑒𝑠 𝑜𝑓 ∆𝐴𝐵𝐶, 𝑡𝑕𝑒𝑛 𝑐𝑜𝑠(𝛼 +  𝛽) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

 A. 𝑠𝑖𝑛 𝛾   B.  −𝑠𝑖𝑛 𝛾    C. 𝑐𝑜𝑠 𝛾  D. −𝑐𝑜𝑠 𝛾 
 
25) 𝐼𝑓 𝛼, 𝛽, 𝛾 𝑎𝑟𝑒 𝑡𝑕𝑒 𝑎𝑛𝑔𝑙𝑒𝑠 𝑜𝑓 𝑎 𝑡𝑟𝑖𝑎𝑛𝑔𝑙𝑒 𝑡𝑕𝑎𝑛 tan 𝛼 + 𝛽 + 𝑡𝑎𝑛𝛾 = _________ 
 A. 0  B. 1  C. 2  D. 𝑁𝑜𝑛𝑒 𝑜𝑓 𝑡𝑕𝑒𝑠𝑒 
 

26) 𝑖𝑓 𝛼, 𝛽, 𝛾 𝑎𝑟𝑒 𝑡𝑕𝑒 𝑎𝑛𝑔𝑙𝑒𝑠 𝑜𝑓 ∆𝐴𝐵𝐶, 𝑡𝑕𝑒𝑛 𝑐𝑜𝑠 
(𝛼+𝛽)

2
= 

 A. 𝑠𝑖𝑛
𝛾

2
  B. −𝑠𝑖𝑛

𝜋

2
  C. 𝑐𝑜𝑠 

𝜋

2
  D. −𝑐𝑜𝑠 

𝜋

2
 

 
27) sin 𝜋 − 𝛼 = 
 A. −𝑐𝑜𝑠𝛼  B. 𝑐𝑜𝑠𝛼  C. −𝑠𝑖𝑛𝛼  D. 𝑠𝑖𝑛𝛼 
 
28) sin 𝜋 + 𝜃 = 

 A. −cos 𝜃  B. sin 𝜃  C. 
−1

𝑐𝑜𝑠𝑒𝑐  𝜃
  D. cos 𝜃 

 
29) sin 2𝜋 − 𝜃 = 
 A. 𝑠𝑖𝑛𝜃  B. −𝑠𝑖𝑛𝜃  C. 𝑐𝑜𝑠𝜃  D. 𝑁𝑜𝑛𝑒 𝑜𝑓 𝑡𝑕𝑒𝑠𝑒 
 
30) 𝑠𝑖𝑛 (2𝜋 + 𝜃) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 𝑠𝑖𝑛 𝜃  B.  𝑐𝑜𝑠 𝜃  C. − 𝑠𝑖𝑛 𝜃  D. − cos𝜃 
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31) 𝑐𝑜𝑠 (𝜋 − 𝜃) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 𝑠𝑖𝑛 𝜃   B. 𝑐𝑜𝑠 𝜃  C.  − 𝑠𝑖𝑛 𝜃  D.  –  cos𝜃 
 
32) 𝑐𝑜𝑠 (𝜋 + 𝜃) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 𝑠𝑖𝑛 𝜃      B.  𝑐𝑜𝑠 𝜃  C. − 𝑠𝑖𝑛 𝜃  D. − cos𝜃 
 

33) 𝑐𝑜𝑠 (2𝜋 + 𝜃) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 
A. 𝑠𝑖𝑛 𝜃   B. 𝑐𝑜𝑠 𝜃  C. − 𝑠𝑖𝑛 𝜃  D. − cos𝜃 
 

34) 𝑇𝑕𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑐𝑜𝑠 (𝛼 − 2𝜋) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜: 

 A. −𝑐𝑜𝑠 𝛼  B. – 𝑠𝑖𝑛 𝛼  C. 𝑐𝑜𝑠𝛼  D. 𝑠𝑖𝑛 𝛼 
  
35) 𝑡𝑎𝑛 (𝜋 − 𝜃) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 𝑡𝑎𝑛 𝜃   B.  − cot𝜃  C. − tan 𝜃  D. cot𝜃 
 
36) 𝑡𝑎𝑛 (𝜋 + 𝜃) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 𝑡𝑎𝑛 𝜃  B. − cot𝜃  C. − 𝑡𝑎𝑛 𝜃 D. cot𝜃 
 

37) 𝑡𝑎𝑛 (2𝜋 − 𝜃) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 
A. 𝑡𝑎𝑛 𝜃  B. 𝑐𝑜𝑡 𝜃  C. − tan 𝜃  D. − cot𝜃 

 
38) tan 2π + θ = ____________ 

 A.   𝑐𝑜𝑡𝜃  B. −𝑐𝑜𝑡𝜃  C.  
1

𝑐𝑜𝑡𝜃
  D. −

1

𝑐𝑜𝑡𝜃
 

 

39) 𝑠𝑖𝑛 (  
𝜋

2
− 𝜃) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

 𝐴.         𝑐𝑜𝑠 𝜃  B. 𝑆𝑖𝑛 𝜃  C. −𝑐𝑜𝑠 𝜃   D. −𝑠𝑖𝑛 𝜃 
 

40) 𝑠𝑖𝑛(  
𝜋

2
+ 𝜃) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. C𝑜𝑠 𝜃  B. 𝑆𝑖𝑛 𝜃  C. −cos 𝜃  D. −sin 𝜃 
 

41) 𝑠𝑖𝑛 (  
3𝜋

2
− 𝜃) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 𝑆𝑖𝑛 𝜃   B. 𝑐𝑜𝑠 𝜃  C.  sin 𝜃  D.  – cos 𝜃 
 

42) sin  
3𝜋

2
+ 𝜃 = 

 A. 𝑐𝑜𝑠𝜃  B. −𝑐𝑜𝑠𝜃  C. 𝑠𝑖𝑛𝜃  D. −𝑠𝑖𝑛𝜃 
 

43) 𝑐𝑜𝑠 (  
𝜋

2
− 𝜃) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 𝑐𝑜𝑠 𝜃  B. 𝑠𝑖𝑛 𝜃  C. −cos 𝜃  D. −sin 𝜃 
 

44) 𝑐𝑜𝑠   (  
𝜋

2
+ 𝜃) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 𝑐𝑜𝑠 𝜃  B.  𝑠𝑖𝑛 𝜃   C. −cos 𝜃  D. −sin 𝜃 
 

45) 𝑊𝑕𝑖𝑐𝑕 𝑜𝑓 𝑡𝑕𝑒 𝑓𝑜𝑙𝑙𝑜𝑤𝑖𝑛𝑔 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 cos⁡(
3𝜋

2
− 𝑥)? 

 A. −𝑐𝑜𝑠𝑥  B. −𝑠𝑖𝑛𝑥  C. 𝑠𝑖𝑛𝑥  D. 𝑐𝑜𝑠𝑥 
 

46) cos  
3𝜋

2
− 𝜃 = 

 A. −𝑐𝑜𝑠𝜃  B. 𝑐𝑜𝑠𝜃  C. 𝑠𝑖𝑛𝜃  D. cos  
𝜋

2
+ 𝜃  
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47) What is the value of cos  
3π

2
+ θ ? 

 A.   𝑐𝑜𝑠𝜃  B. 𝑠𝑖𝑛𝜃  C.  −𝑠𝑖𝑛𝜃  D. −𝑐𝑜𝑠𝜃 
 

48) 𝑡𝑎𝑛 (  
𝜋

2
− 𝜃) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 𝑐𝑜𝑡 𝜃  B.  𝑡𝑎𝑛 𝜃  C.  −𝑐𝑜𝑡 𝜃  D.  –tan θ 
 

49) 𝑡𝑎𝑛 (  
𝜋

2
+ 𝜃) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 𝑐𝑜𝑡 𝜃    B. 𝑡𝑎𝑛 𝜃   C. −𝑐𝑜𝑡 𝜃  D. – tan 𝜃 
 

50) tan  
3π

2
− θ = _______ 

 A.   −𝑐𝑜𝑡𝜃  B. 𝑡𝑎𝑛𝜃  C.  −𝑡𝑎𝑛𝜃  D. 𝑐𝑜𝑡𝜃 
 

51) tan  
3𝜋

2
− 𝜃 = 

 A. tan 𝜃  B. − cot 𝜃  C. 
1

𝑡𝑎𝑛  𝜃
  D. − tan 𝜃 

 
52) tan 2700 + 𝜃  𝑖𝑠 𝑒𝑞𝑢𝑎𝑙: 
 A. 𝑐𝑜𝑡𝜃  B. 𝑡𝑎𝑛𝜃  C. −𝑐𝑜𝑡𝜃  D. −𝑡𝑎𝑛𝜃 
 
53) cot 900 − 𝛼 𝑒𝑞𝑢𝑎𝑙𝑠: 
 A. −𝑡𝑎𝑛𝛼  B. 𝑡𝑎𝑛𝛼  C. 𝑐𝑜𝑡𝛼   D. −𝑐𝑜𝑡𝛼 
  

54) sec  
3𝜋

2
− 𝜃 = 

 A. 𝑐𝑜𝑠𝑒𝑐𝜃  B. −𝑐𝑜𝑠𝑒𝑐𝜃 C. −𝑠𝑒𝑐𝜃  D. 𝑁𝑜𝑛𝑒 𝑜𝑓 𝑡𝑕𝑒𝑠𝑒 
 
55) 𝐼𝑓 tan 𝜃 > 0, 𝑠𝑖𝑛𝜃 > 0, 𝑡𝑕𝑒𝑛 𝑡𝑕𝑒 𝑡𝑒𝑟𝑚𝑖𝑛𝑎𝑙 𝑎𝑟𝑚 𝑜𝑓 𝑡𝑕𝑒 𝑎𝑛𝑔𝑙𝑒 𝑙𝑖𝑒𝑠 𝑖𝑛 𝑡𝑕𝑒 𝑞𝑢𝑎𝑑𝑟𝑎𝑛𝑡 
 A. 𝐼  B. 𝐼𝐼  C. 𝐼𝐼𝐼  D. 𝐼𝑉  
 
56) 𝐼𝑓 𝑠𝑖𝑛𝜃 > 0, 𝑐𝑜𝑡𝜃 > 0, 𝑡𝑕𝑒𝑛 𝑖𝑛 𝑤𝑕𝑖𝑐𝑕 𝑞𝑢𝑎𝑑𝑟𝑎𝑛𝑡 𝜃 𝑙𝑖𝑒𝑠 

A. 𝐼  B. 𝐼𝐼  C. 𝐼𝐼𝐼  D. 𝐼𝑉 
  
57) 𝐼𝑓 𝑐𝑜𝑡𝜃 < 0, 𝑐𝑜𝑠𝜃 < 0, 𝑡𝑕𝑒𝑛 𝑡𝑕𝑒 𝑡𝑒𝑟𝑚𝑖𝑛𝑎𝑙 𝑎𝑟𝑚 𝑜𝑓 𝑡𝑕𝑒 𝑎𝑛𝑔𝑙𝑒 𝑙𝑖𝑒𝑠 𝑖𝑛 𝑡𝑕𝑒 𝑞𝑢𝑎𝑑𝑟𝑎𝑛𝑡 
 A. 𝐼  B. 𝐼𝐼  C. 𝐼𝐼𝐼  D. 𝐼𝑉 
 
58) 𝐼𝑓 𝑠𝑖𝑛𝜃 < 0, 𝑐𝑜𝑠𝜃 < 0, 𝑡𝑕𝑒𝑛 𝑡𝑒𝑟𝑚𝑖𝑛𝑎𝑙 𝑎𝑟𝑚 𝑜𝑓 𝑎𝑛𝑔𝑙𝑒 𝑙𝑖𝑒𝑠 𝑖𝑛 𝑡𝑕𝑒 𝑞𝑢𝑎𝑑𝑟𝑎𝑛𝑡  
 A. 𝐼  B. 𝐼𝐼  C. 𝐼𝐼𝐼  D. 𝐼𝑉 
 
59) 𝐼𝑓 𝑡𝑎𝑛𝜃 > 0 𝑎𝑛𝑑 𝑖𝑓 𝑠𝑖𝑛𝜃 < 0, 𝑡𝑕𝑒𝑛 𝑡𝑕𝑒 𝑡𝑒𝑟𝑚𝑖𝑛𝑎𝑙 𝑎𝑟𝑚 𝑜𝑓 𝑎𝑛𝑔𝑙𝑒 𝑙𝑖𝑒𝑠 𝑖𝑛 𝑡𝑕𝑒 𝑞𝑢𝑎𝑑𝑟𝑎𝑛𝑡: 
 A. I  B. II  C. III  D. IV 
 
60) 𝐼𝑓 𝑠𝑖𝑛𝜃 < 0, 𝑐𝑜𝑡𝜃 > 0, 𝑡𝑕𝑒𝑛 𝑖𝑛 𝑤𝑕𝑖𝑐𝑕 𝑞𝑢𝑎𝑑𝑟𝑎𝑛𝑡 𝜃 𝑙𝑖𝑒𝑠  
 A. 𝐼  B. 𝐼𝐼  C. 𝐼𝐼𝐼  D. 𝐼𝑉 
 
61) 𝐼𝑓 𝑠𝑖𝑛𝜃 < 0, 𝑐𝑜𝑠𝜃 > 0, 𝑡𝑕𝑒𝑛 𝑡𝑒𝑟𝑚𝑖𝑛𝑎𝑙 𝑎𝑟𝑚 𝑜𝑓 𝑎𝑛𝑔𝑙𝑒 𝑙𝑖𝑒𝑠 𝑖𝑛 𝑡𝑕𝑒 𝑞𝑢𝑎𝑑𝑟𝑎𝑛𝑡  
 A. 𝐼  B. 𝐼𝐼  C. 𝐼𝐼𝐼  D. 𝐼𝑉 
 
62) 𝐼𝑓 tan 𝜃 < 0, 𝑠𝑖𝑛𝜃 < 0, 𝑡𝑕𝑒𝑛 𝑡𝑕𝑒 𝑡𝑒𝑟𝑚𝑖𝑛𝑎𝑙 𝑎𝑟𝑚 𝑜𝑓 𝑡𝑕𝑒 𝑎𝑛𝑔𝑙𝑒 𝑙𝑖𝑒𝑠 𝑖𝑛 𝑡𝑕𝑒 𝑞𝑢𝑎𝑑𝑟𝑎𝑛𝑡 
 A. 𝐼  B. 𝐼𝐼  C. 𝐼𝐼𝐼  D. 𝐼𝑉 
 
63) 𝐼𝑓 𝑐𝑜𝑡𝜃 < 0, 𝑐𝑜𝑠𝜃 > 0, 𝑡𝑕𝑒𝑛 𝑡𝑕𝑒 𝑡𝑒𝑟𝑚𝑖𝑛𝑎𝑙 𝑎𝑟𝑚 𝑜𝑓 𝑡𝑕𝑒 𝑎𝑛𝑔𝑙𝑒 𝑙𝑖𝑒𝑠 𝑖𝑛 𝑡𝑕𝑒 𝑞𝑢𝑎𝑑𝑟𝑎𝑛𝑡 
 A. 𝐼  B. 𝐼𝐼  C. 𝐼𝐼𝐼  D. 𝐼𝑉 



 

5 Prepared By:  
Mr. Mohsin Abbas Shah (Principal: The Scholars Science College, Lecturer: National Academy of Sciences) 
Ms Fouzia Zishan (HOD Mathematics), Ms Masooma Kazmi (Lecturer Mathematics) 

 

 
64) 𝑠𝑖𝑛 (180 + 𝛼) 𝑠𝑖𝑛 (90 − 𝛼)  𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

 A. 𝑠𝑖𝑛 𝛼 𝑐𝑜𝑠 𝛼    B. −𝑠𝑖𝑛 𝛼 𝑐𝑜𝑠 𝛼 
 C.  𝑐𝑜𝑠 𝛾     D.  −𝑐𝑜𝑠 𝛾 

 

65) sin  θ +
π

6
 + cos  𝜃 +

𝜋

3
 = ______________________ 

 A. cosθ  B. sinθ  C. secθ  D. cosecθ 
 
66) 𝑐𝑜𝑠(𝛼 −  𝛽) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 
 A. 𝑐𝑜𝑠𝛼𝑐𝑜𝑠𝛽 +  𝑠𝑖𝑛𝛼𝑠𝑖𝑛𝛽   B. 𝑐𝑜𝑠𝛼𝑐𝑜𝑠𝛽 −  𝑠𝑖𝑛𝛼𝑠𝑖𝑛𝛽 

C.   𝑠𝑖𝑛 𝛼 𝑐𝑜𝑠 𝛽 +  𝑐𝑜𝑠 𝛼 𝑠𝑖𝑛 𝛽   D. 𝑠𝑖𝑛 𝛼 𝑐𝑜𝑠 𝛽 − 𝑐𝑜𝑠 𝛼 𝑠𝑖𝑛 𝛽 
 
67) 𝑐𝑜𝑠(𝛼 +  𝛽) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 𝑐𝑜𝑠 𝛼 𝑐𝑜𝑠 𝛽 +  𝑠𝑖𝑛 𝛼 𝑠𝑖𝑛 𝛽  B. 𝑐𝑜𝑠 𝛼 𝑐𝑜𝑠 𝛽 −  𝑠𝑖𝑛 𝛼 𝑠𝑖𝑛 𝛽 
C. 𝑠𝑖𝑛 𝛼 𝑐𝑜𝑠 𝛽 +  𝑐𝑜𝑠 𝛼 𝑠𝑖𝑛 𝛽  D. 𝑠𝑖𝑛 𝛼 𝑐𝑜𝑠 𝛽 − 𝑐𝑜𝑠 𝛼 𝑠𝑖𝑛 𝛽 

 
68) 𝑠𝑖𝑛 (𝛼 −  𝛽) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 𝑐𝑜𝑠 𝛼 𝑐𝑜𝑠 𝛽 +  𝑠𝑖𝑛 𝛼 𝑠𝑖𝑛 𝛽  B. 𝑐𝑜𝑠 𝛼 𝑐𝑜𝑠 𝛽 −  𝑠𝑖𝑛 𝛼 𝑠𝑖𝑛 𝛽 
C. 𝑠𝑖𝑛 𝛼 𝑐𝑜𝑠 𝛽 +  𝑐𝑜𝑠 𝛼 𝑠𝑖𝑛 𝛽  D. 𝑠𝑖𝑛 𝛼 𝑐𝑜𝑠 𝛽 − 𝑐𝑜𝑠 𝛼 𝑠𝑖𝑛 𝛽 

 
69) 𝑠𝑖𝑛 (𝛼 + 𝛽) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 𝑐𝑜𝑠 𝛼 𝑐𝑜𝑠 𝛽 +  𝑠𝑖𝑛 𝛼 𝑠𝑖𝑛 𝛽  B. 𝑐𝑜𝑠 𝛼 𝑐𝑜𝑠 𝛽 −  𝑠𝑖𝑛 𝛼 𝑠𝑖𝑛 𝛽 
C. 𝑠𝑖𝑛 𝛼 𝑐𝑜𝑠 𝛽 +  𝑐𝑜𝑠 𝛼 𝑠𝑖𝑛 𝛽  D. 𝑠𝑖𝑛 𝛼 𝑐𝑜𝑠 𝛽 − 𝑐𝑜𝑠 𝛼 𝑠𝑖𝑛 𝛽 

 

70) cos⁡( 
𝜋

2
− 𝛽) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

 A. 𝐶𝑜𝑠 𝛽                B. −𝑐𝑜𝑠 𝛽                  

C. 𝑠𝑖𝑛 𝛽     D. – 𝑠𝑖𝑛 𝛽 
 

71) cos  𝛽 +
𝜋

2
    𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 𝐶𝑜𝑠 𝛽      B.  −𝑐𝑜𝑠 𝛽   

C. 𝑠𝑖𝑛 𝛽      D. – 𝑠𝑖𝑛 𝛽 
 

72) 𝑠𝑖𝑛 (𝛽 −
𝜋

2
) is equal to 

A. 𝐶𝑜𝑠 𝛽     B. −𝑐𝑜𝑠 𝛽 

C.  𝑠𝑖𝑛 𝛽       D.  – 𝑠𝑖𝑛 𝛽 
 
73) Which one is not true? 

 A. cos a − b = cos a cos b + sin asin b B. tan 𝑎 − 𝑏 =
tan 𝑎−tan 𝑏

1+tan 𝑎 tan 𝑏
  

C. cot 𝑎 + 𝑏 =
𝑐𝑜𝑡  𝑎  𝑐𝑜𝑡  𝑏  −1

𝑐𝑜𝑡  𝑎+𝑐𝑜𝑡  𝑏
  D. tan( 270° + 𝜃) = 𝑐𝑜𝑡𝜃 

 
74) Fundamental law is: 

A. cos 𝑎 + 𝑏 = 𝑐𝑜𝑠 𝑎 𝑐𝑜𝑠 𝑏 + 𝑠𝑖𝑛 𝑎 𝑠𝑖𝑛 𝑏 B. cos 𝑎 − 𝑏 = 𝑐𝑜𝑠 𝑎 𝑐𝑜𝑠 𝑏 + 𝑠𝑖𝑛 𝑎 𝑠𝑖𝑛 𝑏 
C. sin 𝑎 − 𝑏 = 𝑐𝑜𝑠 𝑎 𝑐𝑜𝑠 𝑏 + 𝑠𝑖𝑛 𝑎 𝑠𝑖𝑛 𝑏  D. sin 𝑎 − 𝑏 = 𝑠𝑖𝑛 𝑎 𝑠𝑖𝑛 𝑏 + 𝑐𝑜𝑠 𝑎 𝑐𝑜𝑠 𝑏 

 
75) Which one is true?  

I) 𝑠𝑖𝑛 𝛼 + 𝛽 = sin𝛼 cos 𝛽 + cos 𝛼 sin𝛽                          II)                tan 𝛼 − 𝛽 =
tan𝛼 − 𝛽

1 − tan𝛼 tan𝛽
 

III) cos 𝛼 − 𝛽 = cos 𝛼 cos 𝛽 − sin𝛼 sin𝛽 
A. I only  B. II & 𝐼𝐼𝐼 𝑜𝑛𝑙𝑦 C. I & 𝐼𝐼 𝑜𝑛𝑙𝑦 D. II only 
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76) 
𝑠𝑖𝑛  𝛼+𝛽 

𝑐𝑜𝑠 𝛼 𝑐𝑜𝑠 𝛽
=? 

A. 𝑡𝑎𝑛𝛼 + 𝑡𝑎𝑛𝛽    B. 𝑐𝑜𝑠𝛼 + 𝑐𝑜𝑠𝛽   
C. 𝑐𝑜𝑠(𝛼 + 𝛽)    D. 𝑠𝑖𝑛𝛼 + 𝑠𝑖𝑛 𝛽 

 
77) 𝑆𝑖𝑛 𝛼 + 𝛽 𝑆𝑖𝑛 𝛼 − 𝛽 =? 

A. 𝑆𝑖𝑛2𝛼 + 𝑆𝑖𝑛2𝛽    B. 𝐶𝑜𝑠2𝛼 − 𝐶𝑜𝑠2𝛽   
C. 𝑆𝑖𝑛2𝛽 − 𝑆𝑖𝑛2𝛼    D. 𝐶𝑜𝑠2𝛽 − 𝐶𝑜𝑠2𝛼 

 

78) 
𝑐𝑜𝑠110+𝑠𝑖𝑛 110

𝑐𝑜𝑠110−𝑠𝑖𝑛 110 = ________ 

 A. tan 11𝑜   B. cot 11𝑜   C. tan 56𝑜   D. cot 56𝑜  
 

79) If cos α =
2

7
and terminal ray α is in 2nd  quadrant then sin

α

2
=? 

A. ±
5

2
  B.  

5

14
  C. ±

 7

2
  D. ±

5

 2
 

 

80) If sin 𝛼 =
2

3
and cos𝛽 =

4

5
where 𝛼, 𝛽 are in first quadrant then sin 𝛼 − 𝛽 =? 

A. 
15 5

4
  B. 

8−3 5

15
  C. 16 −

11 7

2
 D. 7 −

5 2

19
 

 
81) sin 15° =? 

A. 
 3−1

2 2
  B. 

 3+1

2 2
  C. 

 3+1

2
  D. 

 3−1

2
 

  
82) tan a + b =? 

A. 
tan 𝑎+tan 𝑏

1+tan 𝑎 tan 𝑏
 B. 

tan 𝑎−tan 𝑏

1+tan 𝑎 tan 𝑏
 C. 

tan 𝑎+tan 𝑏

1−tan 𝑎 tan 𝑏
 D. 

tan 𝑎−tan 𝑏

1−tan 𝑎 tan 𝑏
 

 
83) 𝑇𝑎𝑛 (∝ −𝛽) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜  

A. 
tan ∝− tan β

1−tan αtan β
 B. 

tan ∝− tan β

1+tan αtan β
 C. 

tan ∝+ tan β

1−tan αtan β
 D. 

tan ∝+ tan β

1+tan αtan β
 

 
84) tan 270𝑜 + 𝜃  𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 
 A. 𝑐𝑜𝑡𝜃  B. 𝑡𝑎𝑛𝜃  C. −𝑐𝑜𝑡𝜃  D. −𝑡𝑎𝑛𝜃 
 
85) If tan α + tan 𝛽 = 3 and tanα . tan𝛽 = 2 then tan α + 𝛽 =? 

A. 2  B. 3  C. −3  D. −2 
 
86) 𝐼𝑓 𝑟 𝑐𝑜𝑠𝜃 = 7 𝑎𝑛𝑑 𝑟 𝑠𝑖𝑛𝜃 = 3 𝑡𝑕𝑒𝑛 𝑟 =  ____________ 

 A. 9  B. − 58  C. + 58  D. 49 
 
87) 𝑊𝑕𝑎𝑡 𝑖𝑠 𝑡𝑕𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑟 𝑖𝑓 𝑟𝑐𝑜𝑠∅ = 4 𝑎𝑛𝑑 𝑟𝑠𝑖𝑛∅ = −3  

A. −5  B. 25    C. ±5  D. 5 
 
88) 𝑠𝑖𝑛2𝛼  𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 
 A. 𝑐𝑜𝑠2𝛼  − 𝑆𝑖𝑛2 𝛼    B.  1 +  𝑐𝑜𝑠22α 
 C.  2𝑠𝑖𝑛 𝛼  𝑐𝑜𝑠 𝛼    D. 2𝑠𝑖𝑛2 𝛼 𝑐𝑜𝑠2 𝛼 
 
89) 𝑠𝑖𝑛𝜃 𝑒𝑞𝑢𝑎𝑙𝑠 

A. 2sin  
θ

2
     B. sin  

θ

2
 cos  

θ

2
    

C. 2cos2  
θ

2
     D. 2sin  

θ

2
 cos  

θ

2
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90) 2𝑠𝑖𝑛𝑥𝑐𝑜𝑠𝑥 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 : 

 A.     𝑠𝑖𝑛𝑥     B. 𝑠𝑖𝑛2 𝑥  C. 𝑠𝑖𝑛
𝑥

2
 𝑐𝑜𝑠 

𝑥

2
 D. 𝑛𝑜𝑛𝑒 𝑜𝑓 𝑡𝑕𝑒𝑠𝑒 

 
91) sin2θ = ___________ 

 A. 
1+tan 2θ

1−tan 2θ
  B. 

2tan θ

1−tan 2θ
  C. 

2tan θ

1+tan 2θ
  D.  None of these 

 
92) 𝑐𝑜𝑠2𝛼 =  

 A. 2𝑠𝑖𝑛2 𝛼 − 1 B. 2𝑐𝑜𝑠2 𝛼 − 1 C. 2 cos
𝛼

2
sin

𝛼

2
 D. 𝑁𝑜𝑛𝑒 𝑜𝑓 𝑡𝑕𝑒𝑠𝑒 

 
93) Which one is false? 
 A. sin 2𝑞 = 2𝑐𝑜𝑠𝑞 𝑠𝑖𝑛𝑞   B. cos 2𝑞 = 𝑐𝑜𝑠2𝑞 − 𝑠𝑖𝑛2𝑞   

C. 𝑐𝑜𝑠2𝑞 = 𝑠𝑖𝑛2𝑞 -1   D. tan 2𝑞 =
2 tan 𝑞

1−𝑡𝑎𝑛 2𝑞
 

 
94) 𝑐𝑜𝑠 𝑎 =? 

I) − 𝑐𝑜𝑠2
𝑎

2
− 𝑠𝑖𝑛2

𝑎

2
II) 2𝑐𝑜𝑠2

𝑎

2
− 1            III) 1 − 2𝑠𝑖𝑛2

𝑎

2
 

A. I only   B. II and III only C. I and II only D. all 
 
95) 𝑐𝑜𝑠22𝜃 = 

 A. 4𝑐𝑜𝑠3𝜃 − 3𝑐𝑜𝑠𝜃     B. 
1+𝑐𝑜𝑠4𝜃  

  2
  

 C. 4𝑐𝑜𝑠2𝜃𝑠𝑖𝑛2𝜃    D. 𝑐𝑜𝑠2𝜃-sin2 𝜃 
 

96) 
1−tan 2𝜃

1+tan 2𝜃
=? 

A. 𝑡𝑎𝑛 2𝜃  B. 𝑐𝑜𝑠 2 𝜃  C. 𝑡𝑎𝑛𝜃  D. 𝑐𝑜𝑠 𝜃 
 

97) 
sin 2𝛼

1−cos 2𝛼
=? 

A. 𝑠𝑖𝑛𝛼  B. 𝑐𝑜𝑡𝛼  C. 𝑐𝑜𝑠𝑒𝑐𝛼  D. secα 
 
98) 𝑡𝑎𝑛2𝛼 = 

 A. 
2𝑡𝑎𝑛𝛼

1−𝑡𝑎𝑛2𝛼
     B. 

𝑡𝑎𝑛𝛼

1+𝑡𝑎𝑛2𝛼
 

 C. 
2𝑡𝑎𝑛𝛼

1+𝑡𝑎𝑛2𝛼
     D. 𝑁𝑜𝑛𝑒 𝑜𝑓 𝑡𝑕𝑒𝑠𝑒 

 
99) cosec 2𝜃 − cot 2𝜃 =? 
 A. 𝑡𝑎𝑛2𝜃  B. 𝑐𝑜𝑡 2𝜃  C. 𝐶𝑜𝑡 𝜃  D. 𝑡𝑎𝑛 𝜃 
 
100) cos4q − sin4q =? 

 A. 𝑐𝑜𝑠𝑒𝑐 2𝑞 B. 𝑠𝑒𝑐 2𝑞  C. 
1

𝑠𝑒𝑐 2𝑞
  D. 

1

𝑐𝑜𝑠2𝑞
 

 

101) sin 
𝛼

2
 is equals to 

 A. ± 
1+𝑠𝑖𝑛𝛼

2
 B.  ± 

1−𝑐𝑜𝑠𝛼

2
 C. ± 

1+𝑐𝑜𝑠𝛼

2
 D. ± 

1−𝑠𝑖𝑛𝛼

2
 

 

102) 𝑐𝑜𝑠
𝛼

2
𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜:  

 A. 
1+𝑐𝑜𝑠𝛼

2
  B. 

1−𝑐𝑜𝑠𝛼

 2  
  C. 

1+𝑠𝑖𝑛𝛼

2
  D. ± 

1+𝑐𝑜𝑠𝛼

2
 

103) 𝑐𝑜𝑠2𝜃 = ____________ 

 A. 
1+𝑐𝑜𝑠𝜃

2
  B. 

1+𝑐𝑜𝑠2𝜃

2
  C. 

1−𝑐𝑜𝑠2𝜃

2
  D. 

𝑐𝑜𝑠2𝜃−1

2
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104) 𝑡𝑎𝑛
𝛼

2
 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜: 

 A. ± 
1−𝑐𝑜𝑠𝛼

1+𝑐𝑜𝑠𝛼
 B. ± 

1+𝑐𝑜𝑠𝛼

1−𝑐𝑜𝑠𝛼
 C. ± 

1−𝑐𝑜𝑠𝛼

2
 D. ± 

1+𝑐𝑜𝑠𝛼

2
 

 

105) 
1−cos α

sin α
  = 

 A. 𝑡𝑎𝑛 
𝛼

2
  B. 𝑐𝑜𝑠 

𝛼

2
  C.  𝑠𝑖𝑛 

𝛼

2
  D. 𝑠𝑒𝑐 

𝛼

2
 

 
106) sin 3𝛼 =  

 A. 2 sin
3𝛼

2
𝑐𝑜𝑠

3𝛼

2
    B. 3𝑠𝑖𝑛𝛼 𝑐𝑜𝑠𝛼 

 C. 4𝑐𝑜𝑠3 𝛼 − 3 𝑐𝑜𝑠𝛼   C. 𝑠𝑖𝑛2𝛼 − 𝑐𝑜𝑠2𝛼 
 
107) sin3α = _______ 
 A.   4𝑠𝑖𝑛𝛼 − 3𝑠𝑖𝑛3𝛼   B. 4𝑐𝑜𝑠3𝛼 − 3𝑐𝑜𝑠 𝛼  

C.  3𝑐𝑜𝑠3𝛼 − 4𝑐𝑜𝑠 𝛼   D. 3𝑠𝑖𝑛𝛼 − 4𝑠𝑖𝑛3 𝛼 
 
108) What is the value of sin9θ? 
 A.   4𝑐𝑜𝑠3𝜃 − 3𝑐𝑜𝑠3𝜃   B. 3𝑐𝑜𝑠33𝜃 − 4𝑐𝑜𝑠3𝜃  

C.  3𝑠𝑖𝑛3𝜃 − 4𝑠𝑖𝑛33𝜃   D. 4𝑠𝑖𝑛3𝜃 − 3𝑠𝑖𝑛3𝜃 
 
109) cos3α = _______ 

 A.   4𝑠𝑖𝑛3𝛼 − 3𝑠𝑖𝑛𝛼   B. 2𝑐𝑜𝑠
3𝛼

2
𝑠𝑖𝑛

3𝛼

2
  

C.  𝑐𝑜𝑠2 3𝛼

2
− 𝑠𝑖𝑛2 3𝛼

2
   D. 𝑁𝑜𝑛𝑒 𝑜𝑓 𝑡𝑕𝑒𝑠𝑒 

 
110) 𝑊𝑕𝑖𝑐𝑕 𝑜𝑓 𝑡𝑕𝑒 𝑓𝑜𝑙𝑙𝑜𝑤𝑖𝑛𝑔 𝑖𝑛𝑑𝑒𝑛𝑡𝑖𝑡𝑖𝑒𝑠 𝑖𝑠 𝑇𝑅𝑈𝐸? 
 A. 𝑐𝑜𝑠3𝜃 = 4𝑐𝑜𝑠3𝜃 + 3𝑐𝑜𝑠𝜃  B. 𝑐𝑜𝑠3𝜃 = 4𝑐𝑜𝑠3𝜃 − 3𝑐𝑜𝑠𝜃 

C. sin 3𝜃 = 3𝑠𝑖𝑛𝜃 + 4𝑠𝑖𝑛3𝜃  D. 𝑠𝑖𝑛3𝜃 = 4𝑠𝑖𝑛𝜃 + 3𝑠𝑖𝑛3𝜃 
 
111) 𝑊𝑕𝑎t 𝑖𝑠 𝑡𝑕𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑡𝑎𝑛3𝜃 ? 

 A. 
3𝑡𝑎𝑛𝜃 +𝑡𝑎𝑛 3𝜃

1+3𝑡𝑎𝑛 2𝜃
 B. 

3𝑡𝑎𝑛𝜃 −𝑡𝑎𝑛 3𝜃

1−3𝑡𝑎𝑛 2𝜃
 C. 

3𝑡𝑎𝑛𝜃 +𝑡𝑎𝑛 3𝜃

1−3𝑡𝑎𝑛𝜃
 D. 

3𝑡𝑎𝑛𝜃 −𝑡𝑎𝑛 3𝜃

1+3𝑡𝑎𝑛𝜃
 

 
112) cos4α when expressed in terms of trigonometric functions of multiples of α with exponent as 

unity equals to; 

A. 
1

8
 3 + 4 cos 2α + cos 4α   B.  3 + 4 cos 2α + cos 4α    

C. 
1

6
 3 + 4 cos 2α + cos 4α   D. 

1

6
 5 + 4 co(s 2α + cos 4α  

 

113) 
sin 3𝜃

sin 𝜃
−

cos 3𝜃

cos 𝜃
=? 

A. 0  B. 𝑠𝑖𝑛2𝜃  C. 2𝑡𝑎𝑛𝜃  D. 2 
 

114) 
cos 3α−sin 3α

cos  α−sin α
=? 

A. 1 + 𝑠𝑖𝑛𝛼 B. 1 − 𝑠𝑖𝑛𝛼 C. 
2+sin 2𝛼

2
  D. 

1+cos 2𝛼

2
 

 
115) If tan 𝜃 + cot 𝜃 = 2 then tan 2𝜃 + cot 2𝜃 =? 

A. 1  B. 2  C. 3  D. 4 
 

116) If sin 𝜃 + 𝑐𝑜𝑠𝑒𝑐𝜃 =  3 𝑡𝑕𝑒𝑛 𝑠𝑖𝑛3𝜃 + 𝑐𝑜𝑠𝑒𝑐3𝜃 =?  

A. 0  B. 1  C. 2  D. 3 3 
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117) The maximum value of 𝑐𝑜𝑠2𝜃 − 𝑠𝑖𝑛2𝜃 =? 

A. 1  B. 2  C. 3  D. 0 
 
118) Maximum value of cos 𝑥 − sin 𝑥 =? 

A. 1  B. 0  C.  2  D. 2 
 
119) When sin 3𝜃 cos 5𝜃 is expressed as sum or difference, we get; 

A. 
1

2
 cos 2𝜃 − sin 4𝜃    B. 

1

2
 sin 8𝜃 + sin 2𝜃    

C. 
1

4
 tan 2𝜃 − sin 4𝜃    D. 

1

2
 9 cos 2𝜃 − cos 4𝜃  

 
120) 2𝑠𝑖𝑛7𝜃 𝑐𝑜𝑠3𝜃 = 

 A. 𝑠𝑖𝑛10𝜃 +  𝑠𝑖𝑛4𝜃   B.  𝑠𝑖𝑛5𝜃 +  𝑠𝑖𝑛2𝜃 
 C. 𝑐𝑜𝑠10𝜃 +  𝑐𝑜𝑠4𝜃       D.  𝑐𝑜𝑠5𝜃 − 𝑐𝑜𝑠2𝜃 
 
121) 2𝑠𝑖𝑛𝛼 𝑐𝑜𝑠𝛽 = 
 A. cos 𝛼 + 𝛽 + 𝑐𝑜𝑠 𝛼 − 𝛽   B. cos 𝛼 + 𝛽 − cos 𝛼 − 𝛽   
 C. sin 𝛼 + 𝛽 + sin 𝛼 − 𝛽   D. sin 𝛼 + 𝛽 − sin 𝛼 − 𝛽  
 
122) 2𝑐𝑜𝑠5𝜃𝑠𝑖𝑛3𝜃 = 
 A. 𝑠𝑖𝑛8𝜃 − 𝑠𝑖𝑛2𝜃    B. 𝑠𝑖𝑛8𝜃 + 𝑠𝑖𝑛2𝜃 
 C. cos 8𝜃 + 𝑐𝑜𝑠2𝜃    D. 𝑠𝑖𝑛4𝜃 − 𝑠𝑖𝑛𝜃 
 
123) 2𝑐𝑜𝑠5 𝜃 𝑠𝑖𝑛3 𝜃 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 𝑠𝑖𝑛8𝜃 +  𝑠𝑖𝑛2𝜃    B.  𝑠𝑖𝑛8𝜃 +  𝑠𝑖𝑛2𝜃 
 C.  𝑠𝑖𝑛4𝜃 − 𝑠𝑖𝑛𝜃     D.  𝑠𝑖𝑛4𝜃 +  𝑠𝑖𝑛𝜃 
 
124) 2𝑠𝑖𝑛120𝑠𝑖𝑛46𝑜 = 
 A. 𝑐𝑜𝑠34𝑜 + 𝑐𝑜𝑠58𝑜    B. 𝑠𝑖𝑛34𝑜 + 𝑠𝑖𝑛58𝑜  
 C. 𝑠𝑖𝑛34𝑜 − 𝑠𝑖𝑛58𝑜    D. 𝑐𝑜𝑠34𝑜 − 𝑐𝑜𝑠58𝑜  
 
125) 𝑠𝑖𝑛 12°𝑠𝑖𝑛46° 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 
1

2
 cos 34 ° − 𝑐𝑜𝑠58°    B. 

1

2
(𝑐𝑜𝑠 58° − 𝑐𝑜𝑠34°) 

 C. (𝑐𝑜𝑠58° − 𝑐𝑜𝑠34°)    D.  
1

2
(𝑐𝑜𝑠 58° + 𝑐𝑜𝑠34°) 

 
126) sin a + b sin 𝑎 − 𝑏 =? 
 A. 𝑐𝑜𝑠2𝑎 − 𝑐𝑜𝑠2𝑏    B. 𝑐𝑜𝑠2𝑏 − 𝑐𝑜𝑠2𝑎   

C. 𝑠𝑖𝑛2𝑎 + 𝑠𝑖𝑛2𝑏    D. 𝑠𝑖𝑛2𝑏 − 𝑠𝑖𝑛2𝑎 
 
127) 2𝑠𝑖𝑛7𝜃 𝑠𝑖𝑛2𝜃 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. c𝑜𝑠5𝜃 − 𝑐𝑜𝑠9𝜃    B. 𝑐𝑜𝑠9𝜃 − 𝑐𝑜𝑠5𝜃 
 C. 𝑠𝑖𝑛9𝜃 + 𝑠𝑖𝑛5𝜃         D.  𝑠𝑖𝑛9𝜃 +  𝑠𝑖𝑛5𝜃 
 
128) sin 12° sin 48° sin 54° =? 

A. 
1

4
  B. 

1

6
  C. 

1

8
  D. 

1

16
 

 

129) 
sin 9° sin 81°

sin 48° sin 120° =?  

A. 0  B. −1  C. 1  D. 2 
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130) ( 𝑠𝑖𝑛 𝛼 +  𝑠𝑖𝑛 𝛽) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

 A. 2 𝑠𝑖𝑛 (
𝛼+𝛽

2
)𝑐𝑜𝑠( 

𝛼−𝛽

2
)   B.  2 𝑐𝑜𝑠 (

𝛼+𝛽

2
)𝑠𝑖𝑛( 

𝛼−𝛽

2
) 

 C. 2 𝑐𝑜𝑠 (
𝛼+𝛽

2
)𝑐𝑜𝑠( 

𝛼−𝛽

2
)   D. −2 sin (

𝛼+𝛽

2
)sin( 

𝛼−𝛽

2
) 

 
131) 𝑠𝑖𝑛3𝜃 − 𝑠𝑖𝑛5𝜃 𝑒𝑞𝑢𝑎𝑙𝑠: 
 A. 2𝑠𝑖𝑛4𝜃 𝑐𝑜𝑠2𝜃    B. 2 sin 4𝜃 𝑠𝑖𝑛𝜃 
 C. −2𝑐𝑜𝑠4𝜃𝑠𝑖𝑛𝜃    D. 2𝑠𝑖𝑛4𝜃𝑐𝑜𝑠𝜃 
 
132) sin θ − sin∅ =? 

 A. 2cos  
θ+∅

2
 sin  

θ−∅

2
    B. 2sin  

θ+∅

2
 cos  

θ−∅

2
    

C. 2cos𝜃 sin∅    D. None 
 
133) 𝑠𝑖𝑛 𝛼 −  𝑠𝑖𝑛 𝛽 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 2 𝑠𝑖𝑛 (
𝛼+𝛽

2
)𝑐𝑜𝑠( 

𝛼−𝛽

2
)   B.  2 𝑐𝑜𝑠 (

𝛼+𝛽

2
)𝑠𝑖𝑛( 

𝛼−𝛽

2
) 

 C. 2 𝑐𝑜𝑠 (
𝛼+𝛽

2
)𝑐𝑜𝑠( 

𝛼−𝛽

2
)     D. −2 sin(

𝛼+𝛽

2
)𝑠𝑖𝑛( 

𝛼−𝛽

2
) 

 
134) sin 𝛼 + 𝛽 − sin 𝛼 − 𝛽 = ____________   
 A. 2𝑐𝑜𝑠𝛼 𝑠𝑖𝑛𝛽    B. 2𝑠𝑖𝑛𝛼 𝑐𝑜𝑠𝛽  
 C. 2𝑐𝑜𝑠𝛼 𝑐𝑜𝑠𝛽    D. −2𝑠𝑖𝑛𝛼 𝑠𝑖𝑛𝛽  
 
135) cos α + cos 𝛽 =? 

 A. 2 cos  
𝛼+𝛽

2
 sin  

𝛼−𝛽

2
    B. 2 cos  

𝛼−𝛽

2
 sin  

𝛼−𝛽

2
   

C. 2 cos  
𝛼−𝛽

2
 sin  

𝛼+𝛽

2
    D. 2 cos  

𝛼+𝛽

2
 cos  

𝛼−𝛽

2
  

 

136) cos
3𝛼

4
+ cos

4𝛼

3
can be written in product form as 

A. 2sin6αcos2α    B. 2sinαcosα   

C. 2 cos
25α

24
cos

7α

24
    D. 2 cos

52α

2
cos

5α

12
 

 
137) 𝑐𝑜𝑠 𝛼 +  𝑐𝑜𝑠 𝛽 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

A. 2 𝑠𝑖𝑛 (
𝛼+𝛽

2
)𝑐𝑜𝑠( 

𝛼−𝛽

2
)    B. 2 𝑐𝑜𝑠 (

𝛼+𝛽

2
)𝑠𝑖𝑛( 

𝛼−𝛽

2
) 

 C. 2 𝑐𝑜𝑠 (
𝛼+𝛽

2
)𝑐𝑜𝑠( 

𝛼−𝛽

2
)   D. −2 sin(

𝛼+𝛽

2
)𝑠𝑖𝑛( 

𝛼−𝛽

2
) 

 
138) 𝑊𝑕𝑎𝑡 𝑤𝑖𝑙𝑙 𝑏𝑒 𝑡𝑕𝑒 𝑝𝑟𝑜𝑑𝑢𝑐𝑡 𝑓𝑜𝑟𝑚 𝑜𝑓 𝑐𝑜𝑠7𝜃 − 𝑐𝑜𝑠𝜃 
 A. −2𝑠𝑖𝑛4𝜃𝑐𝑜𝑠3𝜃    B. 2𝑠𝑖𝑛4𝜃𝑠𝑖𝑛3𝜃 
 C. 2𝑠𝑖𝑛3𝜃𝑐𝑜𝑠4𝜃    D. −2𝑠𝑖𝑛4𝜃𝑠𝑖𝑛3𝜃 
 
139) 𝑐𝑜𝑠𝛼 −  𝑐𝑜𝑠𝛽 = 

A. 2 𝑠𝑖𝑛 (
𝛼+𝛽

2
)𝑐𝑜𝑠( 

𝛼−𝛽

2
)    B. 2 𝑐𝑜𝑠 (

𝛼+𝛽

2
)𝑠𝑖𝑛( 

𝛼−𝛽

2
) 

 C.  2 cos  
𝛼+𝛽

2
 𝑐𝑜𝑠  

𝛼−𝛽

2
    D. −2 sin(

𝛼+𝛽

2
)𝑠𝑖𝑛( 

𝛼−𝛽

2
) 

 
140) cos 𝛼 + 𝛽 − cos 𝛼 − 𝛽 = 
 A. 2 sin 𝛼 cos 𝛽    B. 2 cos 𝛼 sin𝛽 
 C. 2 cos 𝛼 cos 𝛽    D. −2 sin𝛼 𝑠𝑖𝑛𝛽 
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141) cos 𝑎 − cos 𝑏 =? 
 A. 2 cos 𝑎 + 𝑏 𝑐𝑜𝑠(𝑎 − 𝑏)  B. 2 sin 𝑎 + 𝑏 𝑠𝑖𝑛(𝑎 − 𝑏)   

C. 2 sin  
a+b

2
 sin  

a−b

2
    D. −2 sin  

a+b

2
 sin 

a−b

2
  

 

142) 
sin 30°+sin 60°+sin 90°

cos 30°+cos 60°+cos 90° = 

 A. 𝑇𝑎𝑛 30° B. 𝑇𝑎𝑛 45° C. 𝑇𝑎𝑛 60° D. 𝑠𝑖𝑛 0° 
 

143) cos2 45° + 𝑥 − sin2 45° − 𝑥 =? 

A. 0  B. 1  C. −1  D. −2 
 

144) sin
𝜋

9
sin

2𝜋

9
sin

𝜋

3
sin

4𝜋

9
=? 

A. 
3

4
  B. 

3

5
  C. 

3

17
  D. 

3

16
 

 

145) cos
𝜋

65
. cos

2𝜋

65
cos

3𝜋

65
cos

4π

65
. cos

8𝜋

65
. cos

16𝜋

65
. cos

32𝜋

65
=? 

A. 
1

16
  B. 

1

32
  C. 

1

48
  D. 

1

64
 

  
146) tan 18° + tan 27° + tan 18°. tan 27° =? 

A. 1  B. −1  C. 
𝜋

4
  D. 3 


